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This question paper c;ontains 6 printed pages. 

Your Roll No . ••••••••••••••••••••••• 

LL.B. I V Term 

Paper LB-502: JURISPRUDENCE- I 

(Theory of Law) 

ES 

Time : 3 hours Maximum Marks : 100 

(Write your Roll No. on the top immediately 

on receipt of this question paper.) 

N o'I'E:- Answers may be written either in English or in 
Hindi; but the same medium should be used 
throughout the paper. 

fG'Ill1lft:- "ffT u:tP/4# CfiT dff( 3i"ll'tft 7.:fT r~ fcrR:It ~ 
'l1TlfT -q ~ fffcR "«W ~ q;r 71T9/ff ~ w 
ffl";rr ~I 

Attempt any five questions. 
All questions carry equal marks. 

Answer the questions giving examples 
from Indian Legal. Systerrz. 

fcl;;:@. riRI m c); ~ ~ 1 

"ffqf m c); 3icli "ff1TR 1· 1 m c); ~ 

~ w~ JI"Ull"fft -8 a~l&<ot ~ Slf r&fifli!. 1 

1. (a) Distinguish Austin's "laws properly so called" 
from "laws improperly so called" with examples. 

P.T.O. 
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31ffi:e.J cn1 'o?W-6ftrn ~ on -« fclf%1'' q;) · 

'o?W-6ftrn ~ oR -« fclf%1' -« m((i6{01 ~~ 

~I 

(b) Critically analyse the idea of 'command' and 
differentiate between particular commands and 
general commands. 

Cfilrts ~ ~ q)f ~~ fel:t~qOj ~ aih: 
fcnm Cfilrts o~ mf.TROT Cfilrts ~ ·iftq foq;;m · 
~I 20 

2. (a) 'Norm' is the meaning of an act by which a certain 
behaviour is commanded, permitted or autho­
rized. Explain the creation of a norm analysing 
the relation between 'is' and 'ought' and the 
relationship between validity and effectiveness of 
a norm. 

'ef.:otll't' ~ an~ q;r an~ ~ ~ m 
c:t•fdqll Ollq$R q;) wu~f:tld, ar:p.ro · 'liT mf~ 

fcfiliT \1ffiiT ~I ·~· alR '~ ~· ~ iftq ~%1' 
a1R ef~ll'i Cf11 fclf~'il<=lldl o~ 'sf~ ~ iftq 

~%1 q;r fct~t~qot ~ ~ fclim ef.:otll'i ~ ~ 
cnl '&I'R9liT ~ I 

(b) Explain law as a normative coercive order 
comparing a legal community with that of a gang 
of robbers. 

fc:nm fclf~ {'i4j;Gill Cf11 ~ ~ ~ ~ -« 
em- ·~ Sll((:tl'<:ti wit~·~ ~ ~ ~ fclf%1' cnT 
Olll(§ql ~ I 20 
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3. (a) Discuss Hart's criticism of Austin's predictive 
theory with reference to the idea of obligation. 

iff~ ~ fcrim: ~ ~ mmr 31'fft:c.J ~ 
"'fCI~cll;;ft fttos;;H'I enl m enl am:fH:Hl CFiT fct~'CJ"t 

~I 

(b) The rule of recognition is not stated, but its 
existence is shown in the way in which particular 
rules are identified, either by courts or other 
officials or private persons or their advisers. 
Analyse the statement reflecting on the inter­
relationship between the rule of change and rule 
of recognition. Can you identify ultimate rule of 

-recognition in India? 

. ~ cnr ~ afct1fuJd ~ fcfi<fr Tfm ~ ~ 
~ atf{'dcq C6) ~ ~ it ~ Tfm ~ ~' 
Rem ~ enl "4 I~ R'1lll '[lU 3l~ 31"4" 

3lft~CfilR41" err f.J\1it &Jfm4f err ~ tR"'leChlil. '[lU 

~ enl "\11'101 ~ I q Ret d"t ~ Rem am: m;<rnT ~ 
f.lcm ~ ~ 3ioatfkli tiT C6T SJfafcst~d em- ~ au; 
Rem CFiT fct ~filii OJ ~· I. ~ 3lTlf ~ if m;<rnT 

~ 3lftm Rem enl ~ Cf;\ ~ ~·? 20 

4. "The aim of social engineering is to build as efficient a 
structure of society as possible, which requires the 
satisfaction of the maximum of wants and desires of 
people with minimum of friction and waste." Analyse 
the statement with reference to Indian legal regime. 

P.T.O. 
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"tllqlf\ilcti '\iftf.:t<H1 'CfiT · ~ ~ Cfll 1.T~'lCf 'G~ 
~ 'CfiT f.l1tfor C6Vtl. ~· ~ ffiQ: aWf~ ~ ~ ~ 
~- q"f'fc!ICC o~ ~ ~ tn'?.J ~ Cfll 31f~ 
~ o?IIT ~I" 'ql{ffllj w~ &jq{Ol!fi ~ ~ ~ 

~ 'Cfi?f.l 'CfiT fcc:t<?lttot ~ 1 20 

5. Any law making should follow the course of historical 
development. Custom not only precedes legislation but 
is superior to it, and legislation should always conform 
to the popular consciousness. Comment in the light of 
policy of reservation (creamy layer) being carved out 
by the judiciary. 

fctf'f f.Afur cS ~fdi!lf{'ICfl ~ ~ ~ 'CfiT aii•lq"f 

q;vrr ~ 1 ~~ ;r ~ m~ ~ -crre ~ m-at ~ 
~ ~ Wo .n ~ am m~ ctir ~ dlctimll ~ 
~ ~ GR w-IT ~ I 04ill41f~Cfll iRT ~ \ill 
w am~ ;ftftr (~ W:R) ctil. ~- -q ~ ~ ~ 
f~f~l{ I 20 

6. (a) The movement of progressive societies has 
hitherto been a movement from status to 
contract. Analyse in the light of Indian legal 
framework.· · 

SPifd:tftd ~ 'CfiT ~ 3lif OCfi ~ ~ 
~ OCfi ~ ffi ~ I "11Ut1ll fcU~ ~ cS · 
~ -ij 00' ~ rn:t<?\CIOI ~I 
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(b) Discuss the evolution of law and legal institutions 
in the static and progressive societies as pro­
pounded by Maine. 

~ fcJi ~ ~ stfct4tfGo .fcfim ~ . ~ o~ 
sr•trn:tn<1 WIT\ifT -q fcff~ am: w~ ~an ~ 
fcrcm:r q;r fctaii"f ~ I 20 

7. Write short notes on any four of the following: 

(a) Independent political society (Austin) 

(b) Internal and external aspect of law (Hart) 

. (c) Independent and dependent norms (Kelsen) 

(d) Withdrawal of a judge from a case affects the 
credibi~ity of judiciary. 

(e) Compare ultimate rule of recognition of Hart 
with Grundnorm of Kelsen. 

R"'1R1f€iia it~~ iifR tR m~ fltquft ~: 

(a) ~ {t'iloftfac:n ~ (~) 

(b) fqf~ ~ 3iH1Rcn o~ ~ li~ (ml) 

<c) ml}T(f am: trofl}T(f :af.."fllli 

(d) f%m ~. ~ ·~~ ~ ~ ~ "41£fqlf8ctil qif 

FCillCI«;ft£tat ~mFcrn m-m ~ 1 

(e) mi ~ ~ ~ f.rqtf q;1 ~ ~ ~ ~ 

20 

P.T.O. 
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8. In Speluncean Explorers' case there is something more 
on trial than the fate of the four unfortunate 
explorers." Critically analyse the statement emphasi­
sing your own reasoned preference for any one judicial 
opinion from the case acquitting or convicting the 
accused. 

"#lt1>tf{'lllot Q\«:Ri~H:f ~ ~ -q ~ 3l~ Q\CffltffiHf 

efll f.:rll'ftF ~ 3lf~ ~ afu: ~ fcliCI{OII ~ ~ I" , 

3lf~ cnl ·Gltt'l"di ~ <:rT G)~ffi<G: ~ ~ ~ ~ 
fc6m .l'{Cn "4tf4Cfi ~ ~ cm:a 3lCRT m e6T ~ 
~ lR_ i{(1" ~ ~ ~ Cfi~ CfiT ~~ fct~€\~01 
~ I 20 
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